W7D~y MR (ESIER)

<BBFOES>

JOT—=00547 #RirIs6 &
OBERTHF @5 JILoO—X{thE
.-
T
=
59.5 W
385
. 2 2
7 i 3
25 25 151
0 156 6
= b
: V| % i
o T e
(] | |e T O & lo| xTT
E B 8 I E g 8 [0
a
g 2
fl fu
# =
Hb h
— qﬁ o WEL ﬁﬁ @ FL
OEDIES
L | EATER
EATRfTEHES g ; TS
=l WiEHh |19 245
77 .| WIDW]__[1,066(1,022)] 2.466(1,272)
%// gﬁﬁf A0 850 1,100
L HEERR 20
o4 S © 2.033(2,016)
DW FEOA TV o HOH 15, 0= % : 20332029
W
245 Bl L=123 BEWFAO=DW—172 245
41 ©
8
¥-< w0
) 2N
— — 7z
] DW 35
DW=W/2+39
a5 DW DW=F#RAO+172
25 W=20w-78 25

W=2xF#R0O+266



